NaME_Soluttons

HOMEWORK FOR WORKSHEET 11 MATH 1300 DUE April 4, 2008
1. The product rule for derivatives states that if F(z) = f(z)g(z) then F'(z) = f'(z)g9(z) +
f(x)g'(z). In each of the problems below, find f(z) and g(z) so that F(z) = f(z)g(z) has the

indicated derivative.

(a) F'(x) = 2z cosz — z®sinz (Hint: Try f(z) = z* and g(z) = cosz.)
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2. Below is the graph of a function f, Suppose another function g has the following properties:

g(—1) = 2 and, for all z, ¢'(z) = f'(x).
Sketch the graph of g using the same axes.

4 1 1 1 & e L
y u t 1 t
.7 . L . -

By e Cornsbat WL Thwm o there exists

-1+

¢ s 1,

qled = Lo+

J

Bk al-=a2 owle [-O=[ . 3¢
C=\. Trode s

)

GO = )+ |




	Page 1
	Page 2

